
Find a half (2)

1 	 a)	 Circle	 half	of	 the	pencils.	

	 	

b)	 Complete	 the	 sentence.

	 	 Half	of	 6	 is	

2 	 Colour	half	of	 each	group.	

a)

  	 	

b)

  	 	 	 	 	 	 	

	 Did	 you	do	 it	 the	 same	way	 as	your	partner?
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3 	 How	many	 counters	are	 there	 in	each	group?

	 Find	 half	of	 each	group.

 a)

  	 	 	 	 	 	 	 	 	 	 	 	

  	 	 	 Half	of	 	 is	

b)

  	 	 	 	 	 	

	 	 	 	 	 Half	of	 	 is	

c)	

  	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	

  	 	 	 	 	 	 	 is	 half	of	

4 	 Complete	 the	 sentence.

	 7	 is	half	of	


